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MADE IN ITALY 12

Table to determinate the minimum distance A so that a door with T thickness can open without protrusion from the cabinet and without interfering
with adjacent doors.

T= 18 20 22 24 26 28 30 32
=3 A= 0 0.2 0.5 0.9 1.4 2.1 3.1 4.7
=4 A= 0 0.2 0.5 0.9 1.4 2.0 29 4.2
=5 A= 0 0.2 0.5 0.8 1.3 2.0 2.8 3.9
=6 A= 0 0.2 0.5 0.8 1.3 1.9 2.7 3.7

Values given in mm 13



Instructions for use Libera

Wooden door application

Cabinet Door :
c
A £ 46 10
T
: (o W =
! A \ < o ;
N [}
5 475 |~ R4
Q_
57.5
\_ = Rq
6
51
56
12
67.5 o
0 Y
2.2 <is 5 3
c { —l o
I ‘ E N o
ol o ! | 1
SN C | )
L
K= (3-6)
O
I
I
I
}
I
I
|
o 3 ! A7+
| <
| on | 3
| I =
' 0
; m
[l | o
I
L
S
Aluminium door application
Cabinet Aluminium door
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